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MATHEMATICS

Time : 1.30 hrs | Part - | | Marks : 50
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Choose the correct answer: 10x1=10

fn((AxB)yn(AxC))=8andn(B~C)=2, then n(A) is -

a) 6 b) 4 c) 8 d) 16

The number of constant functions from a set containing m elements to a set containing
n elements is

a) mn b m c) n d) m#+n
Let f: R—R be defined by f(x) = 1 - |x|. Then the range of fis
a) R b) (1, «) ¢) (-1, %) - ) =2, 1]
The number of relations on a set containing 3 elements is ‘
a) 9 b) 81 c)_512 . d) 1024
If|x + 2| =9, then x belongs to I
a) (-, ~7) b) [-11,7] C) (=, ~7T) w11, w) d) (~11,
The number of roots of (x + 3)* + (x + 5)4 =16 is |
a) 4 b) 2 c) |3 d) 0
If 3 is the logarithm of 343, then the base is
a) 5 b) 7 c) 6 d) 9
. The solution of 5x —~ 1°<24 and 5x + 1 > 24 is
a) (4,5) b) (-5,-4) c) (-5,5) d) (-5,4)
cos1° + c082° + €083 + ............ +cos179% =~
a) 0 b) 1 c) ~1 d) 89
In a triangle ABC, sinA + sin?B + 8in?C = 2 then the triangle is
a) equilateral triangle b) isosceles triangle
c) right triangle d) scalene triangle
, Part - ||
Answer any 4 questions. (Q.No.16 s compuisory) : 4x2=8

Find the number of subsets of Aif A= {x:x=4n+1,2<n<5, neNj.
Iff: [-2,2] —» B is given by f(x) = 2x3, then find B so that f is onto.
Construct a quadratic equation with root 7 and ~3.

Express 30° angle in radian measure.

’ Fi inci sin""(-]—;
1?’ Find the principal value of o

}6.

Solve : |2x - 17| = 3 for x,
Part - Ii

lil. Answer any 4 questions. (Q.No.22 |s compulsory) | 4x3=12

17.

n(P(A)) = 1024, n(A U B) = 15 and n(P(B)) = 32, then find n(A N B)

. 1 1 1 1 1
Simplify : 3-8 -0 Vo Jo-J
mplify : 3-8 Too 7+ Tl 8 5+j_75_2‘
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2 Xl Maths
18. Solve 23x < 100 when
i) x is @ natural number i) x is an integer

tan®+secO-1 1+sind
tan0 - secH +1 cos®

20. Prove that

21}F§°ﬁd the value of cos 1350,
22. Draw the followings: : :
Dy=iy=lx-1]  i)y=|x+1
Part - |V
V. Answer all the questions. . ' 4x5=20

A-B) a-b_ (¢
t - =
23. a) In AABC, prove that an( 2 ) ?+b0_01[2)

" " (OR) ‘
b Aff: R-R is defined by f(x) = 2x — ﬂ:rove that f is bijection and find its inverse.

(%2 +x-5 if x e(—oo,O)
. | ‘ . f(X)'-'_ x243x-2if xe (3.00)

24. a) Write the values of f at -3, 5, 2,-1,01if x2 if xe(02)
%% -5 otherwise

ro . .

(OR)
2X

b). Resolve into partial fractions - W

logx _logy logz
Y-z z-x x-y°

25, a) If then prove that xyz = 1

(OR)
cpt(1 80° + 6)5in(90° - e)qos(— 0)

Sin(270° % e)”tan(_ 6) cos 60(3600 +?) = COSZB Cote

b) /Pfave that

26. a) Onthe set of natural numbers let R be the relation defined by aRb if 2a + 3b = 30.
Write down the relation by listing all the pairs. Check whether it is

i) Reflexive | i) Symmetric
iiiy Transitive " iv) Equivalence
(OR)

b) /Bélve the equation 1/6 -4x-x2 = x4+ 4

LR 23 T
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